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��
 �5.
*�%� �
��� �!��� 7��� �����+%� ��.���� 
�
1
��

��� �
'�����.�%8�� �. '��� 01�
2 ��.	��#

)Total Station(�
'��.��� 01.�
�� 9�.'2 �.� 
�
:��� )%�� )� ;
%�2 0����0�
+��<��.%� ).=� 

>
.���'��� ;�.
���%#�/� ��	� )� )�$%�� �� %��
 �?
�'�� �
'����� 01�
�� ,
�@%� 9.
' ;'�.@2 

�.*	%+��� �
����� �
������ ������ �A�� )� ��+%�%
#�.*	%+��� �
������ ;B������ �� ��� 4��� ����&
]1[.
�6 �@�'�� �� %�� )��
'����� 01�
�� �2 �.� E

<�
1
��

�� ������ 5
*�% �
�$% )� 4�5
 �
F% G$���

E�H
� �?
�'�� 01�
�� I5= �2 �� �	��#�� �
�$% ��:%%

 <>��'��� �@��� )� �
��� J5K6 �@� ���7+ �� �#�

;�=�
%E� � �
$��� �
��1�� ��
1+%� �
��!���� ���.:

�#�5 ��%
����� �

��+ 0�#�5 �2 �
	+�� 0 �� �
�
 �*	%+� �
'��� L����#, �$%�� ��&�� >��' L�����

�
�$%��� <�,	:� >��' L����� <�,.
!�% L��.���
 ��
� �� 3	�  �$��� � <;�
?��.'/� >��.' L��.��� 

0��@����  �$�	� �
�%����.
;�
?��.'6 �

�%� �	?�%��� �
'����� ������ �A�� �6

 � $� �
 + �2 �
��1 ;���
! �7+ �� ����%�� 3�6 M��
 ��
� �� 3	� ;�
?��'/� ���	��  �$�)��G.
	� �	 


 ;�� �$%�� �
��% (3	� ��%�
 �
�
$%�� )%����� �

�%
 ;�
?��'/� ���	����  �$���� ����
<;�. '� ).=� 

 ����  �$� �2 �@��� 9
' ���
$%�.��� ��5= , �$%
 
;�
?��'/� ����
��� � $��� )� .�.'% ;�
?��.'6 >

, �$%�� � $� �  ��� N��*	%+� ��#4��1.�� , �.$%�
)����� �2 )*	+�� ]2[.

8��O%�
'��.��� ������ 5
*�% )� �
���2 �
�$%�� ��&�� 
�� ��� 4��� ��
� )� ;�
?��.'/� >��.' ).�� 

�
�
�$%�� �#��  �$�� ;�?	?��� 2�.�� �.�� ��	
�.�%�
 P�F@�� ;������� .3�6 ������� I5= Q��% �
�. %

$
� ����$�� 0�N��.�� 3	� ��!��� ����@ 1��
%� ��

 ��&�.��� I5= )� �������� 0� +�� .��.	'�� �.�%�%

 �

1
��.

��� �

.:�
��� ��! �� ���$���� �$�����
 ;�=�
%E� ��
!� ����
��� � $��� ��� Q�!��� 3	�

 �
$����M�.��
! M�$��.� ;�
?��'/� ���	��  �$� 97?
M���% � <�
 
�� ;����' �7+ ��%, �$%�� ��&�� ��

 �

���2 �
� �$% 3�6 )*	+��R��=�'2 :)� 3��
 �

�%
 ����
��� � $��� ;�
?��'6<�.� M�.$$'% ��#
 �+T�� 

���� >��'�� �'@.��

6 �
*
# 9'��� �5= U��
 
)%����� �.���
��� �. $��� )� ��=7# ��% �
%
�N�� 

�����
% $����
%��	�� J5K6 <�.' �.� �.#�
 �
%�.=
��� �.���
��� � $��� ;�
?��'6 3	� ��@'�� �
%����

 �7.+ �� �.
�1���+  
�.� �����+%.�� �.#�
 �
�%
������� �
'����� 01�
�� )� �	��# .

��� ��	��
�� ��
#	�������� ����
����:
��%�
?��.'6 >��.'� �.���
� � $� 42 �

�% �#�


 � 1#��%��� !� ��!�� 1��
����
 ).%�� �.
$��� �
��1�� 
�@%  �.$��� 3.�6 ����
��� � $��� �� ;�=�
%E� ���

 P�+�� ���	����;�
?��'/� .�1.	
 �. $� �
.
�%�
 ����
�P �$� 97? M��
'� M��

�%A, B, C ���	����

 ;�
?��'/���
%
$��� �
%
��1�� ��
!β1, β2)� ��#
 �#���)1(.�6���� P�O% )%��  �$�	� )������ �'���

 �
$%���� �� $�� ��.! �= �%��? �
��1 ��: ��.� 
0�N��3��
 �
��1	� ��'��� ��$��� .M7?�� �. $���P

�
��1	� ��'��� ��$�� 3	� ��
 �� ��!��β145.�� 
�� $�� ���� P�O% )%��  �$�	� )������ �'��� �=AB<

� ��'��� ��$�� 3	� ��!�� �
��? ��
 ����
��1	β2
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 )%��  �$�	� )������ �'��� �= 45�� �� $�� ���� P�%
BC.5= �6 �
� $��� )� ��� �$%
 �
��$��B�P<

�#�
 9
' �2 &��% �. $��� � 
�� �
���= �$
� � P
� M�
 
 +% H�V? �� ).� �
�� �= ��# ��%�
?��'6 >��'

�#��� )3(.�.$
� � ��
�� � $� ;�
?��'6 >��' �6
 � ��� �%
 �
�$%��N���
%T� :�.$
�  �2 W�� �$
� 


%����;)Gauss or Pothenot(<)�
.��# �.$
� 
)Cassini(<)�� 
/� �
�$%�� �$
�  ��
	
	'%�� �$
� ��

0��'��� ���!�� �$
�  �2 ]6<3[.
�6 1��
�� 1
#�% 0�� + �= �
�$%�� ��&�� >�
� �=2 

<0� +�� 0�N���� �� >�$��� �.��
' P�+2 0����� �2 
)������ >�%$
ABCP ��%�� )������ �� ,.:� )�

 �� �.��	 ��� �.!��� >��.'�� �$
�  ���% E �5�#
 �
%
��1.	� �
��.'� �
��! , �$% 3�6 ��X
 �
�$%�� 

��� %�� ,:� ����%$
 , �$% �%
 �2 �
*��� ��� G
	�� <
��N�$�� �
��1�� �� ��
�! �
��1� �
��$�� �
5=<�>



 ��=1

�%�� �
=�.
%� , �.$%� �
.��! , �.$% �
� 
�
��@��.�56  ����  �$� ;�!�)�.��	����  �.$���
;�
?��'/�(� $���� ����
��� )���

�% >�	 ��� ( 3	�

��! �� 0�'�� 0�N�� �.�A
 �. $�	� �
.
�% ��.� 
�� � $� 42 �� <����
��� GM7' ��#% �2 Y	@%)42
 5=  
'� �� � $� �# �2 �. $��� �.?�% 0�N��.�� I

����
���(�H�V? ����'�� I5�� ��
�� �Z� �

�% ��� �.
3	� �	 
 �� 
'� 3	� ,����  �$��� ,$% )%�� 0�N���� 

)�.���
� � $�� ���	��  �$� 97?(0�N��.�� �.�� 
�.�����  �$��� ��!� �� �#�2 �� ���%�7�� 0� +��

 3	� �. $��� ,.$% �2 >.

 <0� +�� 0�N����  
'�
 0�N����  
'� �� ����$� ����� 3	� ���

�% >�	 ���

0�����  ����  �$� �� )A, B, C (�2 �2 0�N���� �+�� 
��
��+]4<5[.[�
 �
�#���)1(G�2 �. $��� ;��# �56

 ��&�.� 3$�% 0�N���� I5=  
'� 3	� ��!�� ����
���
 �
%�.= �� 3.����� �.�
�� ��&�� �
%
��1�� ��
!

M�$��� ������' �#�
 �
%
��1��.

��+)1:(��� ����
 �- 4	
��� 4	=�������� 
6 J5K6H�:

A, B, C ;�
?��'/� ���	����  ����  �$� .
a, b, c ����  �$� �
� ;������� .
β1, β2
$��� �
��1�� ����� $��� ����
���P3.�6 

;�
?��'/� ���	����  �$��� .
��	���� �� �
%
��1.�� �� M7# �2β1�β24���.%

 �.$������ 0�N���� �� �
1#���� �
��1�� Q@�<9.
' 
1#�� �# �. $�	� ��.'��� , �$%�� )%�N�� �� 0�N��

 ����
���P�� $	�  ��%��� �
$%���� , �$% �� L%�

��
$%���� AB��� ������ ,� � $��� )� ��$A3.	�

 � $��� I5= �� ������ �
 
'��� �
��1�� �@'
 45��
β1<� $��� ;��# �5Z� P0�. +�� 0�N���� 3	� ��!��

��#
 :
)1(

1 2

a bR 2sin 2sin= =β β
�M�:
2β1 + β2 + φ =180º  ��	�� �= ��# )��#�

 �.�
�� 0�.N��  
'� 3	� ����� ��$
 ��% )���� .�6
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 )��.���� �#��� �
��1 ���
�OM1BM24���.
 
360°42:

β1 + β2 + φ + 180° = 360° 
9
'φ�
.� �	.@���� ��� �� �
� �
	+���� �
��1�� 

 ����  �$�A, B, C.��� G:
)2(o

2 1180β = − ϕ−β
U
��%� L%�
 )2()� )1(�!7��� �
%T� :

)3(o
1 1a sin(180 ) b sin− ϕ −β = β

��%��%# �#�
�#���� :
)4(2

1 1a 1 sin sin (b a cos ) sin− β ϕ = − ϕ β
,
��%� �!7��� )��  )4(��#
 :
)5(2 2 2 2 2

1(a 2a bcos b )sin a sin− ϕ+ β = ϕ
G��� 

)6(1
a sinsin C

ϕβ =

J5K6 
2 2 2C a b 2a bsin= + − ϕ

G���� �#�� �@'� �
��1	� ������� �	?��� �!7� 3	�
2β�#���� )%T� :

)7(2
bsinsin C

ϕβ =

�.� 0� +�� 0�N���� � ! Q@� 3	� ��@'�� �#�

 �
%!7���)6(�)7(��������� )1(%&
 ��# ):

)8(CR 2sin= ϕ
�
	'%� I5= �!7��� �
� ��' )� G�2 3��% �
��1��φ

�� >�%$%�180º)φ←180°(� $�� Q@� �Z� 
�
���7�� 3�6 3��
)R←∞(<�H�.V? �.� Y�@.
 

M�*
�.: �.��	 � �!�� �
�$%�� ��&�� �' ���%'�.�56
 ;��#φ ≈ 90° ��#% �.�
! R�.�
! �.� �.�
�! 

�. $��� �
.� �	@���� ��� ��  �.$���� �.���
���

 ,:�%� >������ ��
%+E� >

 ���'�� I5��� ���	����
 ����  �$�.

� $�� Q@� >�\' �56 R���!7��� )1(�
��1��� 
1

a sinarcsin C
ϕβ ≈ �22

bsinarcsin C
ϕβ ≈ 

]5N��� ���'�� I5�� �#�
 �.$
�  ���+%�� �� ���%�E�
 �� ��#�� ����
� ���+%��� )*	+�� 4��1�� , �$%��

$�  ����  �)>#���� , �$%�� �$
� (.
�.�!���� �.
��1�� Q���� �= ��# �'����� )� ��$%

 �� $�� �
�
 3	�AB�=���
 �2<�.�� �
*
 �� �5=� 
��# <����
��� � $��� ;�
?��'6 >��' L����� �
�@%

 ��
! �2 >�	 ��� �'�� ��
%+� ��� ��+%�% �
��1�� I5=
 �
	' �
��#�Z� Y��% �
�$%�� ��&�� �� <��&���� I5��<

�#��� �� �
�� �= ��#)2(.
1�� ��
! ��' )��
�� β)��#���)2(�
��1��� �	?�� 

APB<)� �
��1�� Y�@%P′�
���� 360° - β.�%

 I�
%E� ;�� >��' �5�# ,:� )�AB!7�����:

a
XX AB

AB
−

= arcsinα
M����� G�� ����%��� I�
%E� ;�� ���'�� I5= )� ��#


 � $����M�.!7���� 3 �
 M O1 AB 90−α = α + o

�
��1�� ��#% ���
'β ≤ 90 .�.
��1�� ;��# �56 ��2
 )�P′�
���.� 360° - βI�.
%E� ;�.� Y�@.


 I�
%E� ,� ����%���AB4���
 :

��+)2:(���������� ����
 �- ���� �� 	�� 

M O 1 AB 90′−α = α − o
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 �#��� )� P�
)3(
$��� �
��1�� �2 ��β1�#̂�% ��
 ����  �$�� 0����� 0�N���� � ! Q@� >��' A�B

�����
��� � $���P<�.������� �7.+ �� _�5� )1(
0�N���� 1#�� ;�
?��'6�O142 :

)9(A B
o1 1 M 1 O 1

A B
o1 1 M 1 O 1

x x aX ctg s in2 2
y y aY ctg cos2 2

−

−

+= + β α
+= + β α

 

�#�
 �� �
��1�� ��
!2β,	:��� b>��.' �.� 
0�N���� 1#�� ;�
?��'6O2)��%�� �#��� 3	�:

)10(
B C

o2 2 M2 O2

B C
o2 2 M 2 O2

x x bX ctg sin2 2
y y bY ctg cos2 2

−

−

+= + β α
+= + β α 

��+)3:(������� ����
� ��	@��� ���	��� 
0�N���� ������ >%#% 41.#�� ;�
?��.'6 >��' ���

 �
%�N����O1�O2� $�� )*@�� R1 �R2 �.��
 �#���)3(3	� �'��� T�)%:

)11(
2 2 2

o1 O1 1
2 2 2

o2 O2 2

(X X ) (y y ) R
(X X ) (y y ) R

− + − =

− + − =
�!7��� I5= )� �
%������� `� ���#
 :

)12(O2 O1

O2 O1 O2 O1

(X X )Ly XY Y y y
−= −− − 

J5K6 :
2 2 2 2 2 2
1 2 O1 O1 O2 O2

1L (R R X Y X Y )2= − − − + + �
2

2

bR 2sin= β�1
1

aR 2sin= β

U
��%� �������� �
! )12(�.� 3���� �������� )� 
�!7���)11(�� 
�� ;����' a��
6 ���%L%� ������

�
��?�� �
���� ��)=:
)13(2

1 2 3K X 2K X K 0− + =

J5K6:
2

12

12
1 1 




−
−

+=
OO

OO
YY
XXK

�
)(

).(
)(

).(
12

121
2

12

12
12

OO

OOO

OO

OO
O YY

XXY
YY
XXLXK −

−−−
−+=

2
2 2 2 O1

3 O1 O1 1 2
O2 O1 O2 O1

2LYLK X Y R (Y Y ) (Y Y )= + − + −− −
 

�������� �'�)13(�
� :
)14(

2
2 2 1 3

P,B
1

K K K KX K
± −

=

) �
 �!7��� 4�5
 �'2)14(��'6 � $��� ;�
?)XP(
P�
' )� �.��	���� �. $��� ;�
?��'6 �+T� �5
��

)XB(B�= 45�� ��1��� �.'�� �'.@ �� �$'%��.
3	� ��@'�� �#�
YP��
! U
��%� XP�!7���� 

)12(.
"��
�1:

� $��� �2 U�*�P �.$��� ���� ;�@� A, B, C 
;�
?��'/� ;�5�
%T�:
YX9:;<=ر@? ا 

30722.23 33183.24 A
29038.52 32543.61 B
27666.31 33449.18 C

J5K6 � $��� �� 0��@���� �
��1�� �
!P)= :
β2 = 66º 27´ 51" ,  β1 = 55º 11´ 29" 

�� $��� ;�
?��'6 >��' >�	 ���P.
����:

�
� %� ;�!7��� �
%�%���� I5.= ����$��� 9'��� )� 
LN�%������������ ��
�# �']5<4[��#
 :

��
�# �$
�  �'�%$\��� �$
� �� 
Y (m) X (m) Y (m) X (m) � $��� �!�

29043,52634043,57129043,52234043,577P
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 "��
�2:
� $��� �2 U�*�P �.$��� ���� ;�@� A, B, C 
��%�
?��'6 )%��)=:

Y (m) X (m) � $��� �!� 
-168684,29 -285339,25 A
-168563,81 -284770,32 B
-169492,26 -285270,17 C

�
��1�� �
!� 0��@����)=:
β1 = 33.4876 gr�
��1��� β2 = 105.7201 gr 

>�	 ��� � $�	� �
N����� ;�
?��'/� >��'P.
����:

;�!7��� ���+%����'�%$��� �.���$��� 9.'��� ).� 
LN�%������ �$
� ���]1[��#
 :

W��� �$
� � �'�� ���'�%$\��� �$
� ��� �' 
Y (m) X (m) Y (m) X (m) 

�!�
� $���

-168868,157-285475,360-168868,153-285475,366P

��E �.' �.$'% )%�� ;E������ 3	� ��@'�� ���
 � 
��� �	�� ;E����� �
�$%�� ��&�� �

$% �� �.!�

 ;�
?��'6��� $�������
� .>	 %
 �.��� �5= ��.

6
!7��� �
� �
$\��� �
��1�� )� �@�'�� �
F%�� F%��� �� �


 ����
��� � $��� ;�
?��'6 )� ��
	� ��@'�� �% )%��
 I7�2]7<5[.�
��%�� �:*
 � �
��1�� �� .
$\�� �.� ��

�
%���� �
��1�� �7+<��#)��#��� )4(.

��+)4:(������� ����
 �- �8��� ����� 
A'7
�#��� �� )4(9.
'P��� �.���
��� �. $

�2 ;�
?��'/�:

)15(1 P B P A

2 P C P B

− −

− −

β = α − α
β = α − α

�	:�*�� �������� )1(
3	� �@' :
)16(1 P B P A

2 P C P B

d d d
d d d

− −

− −

β = α − α
β = α − α

�	:�*���$	�%��� �!7����
%���� �
��1�� >��'� L%�
 :
)17(i P

P i
i P

X Xtg Y Y−
−α = −

)18(P i P i
Pi P p

i i

cos sind dx dyS S
− −   α αα = −ρ +ρ      

 
���%# �#�
 ��������)16(�.������� 5.+2 �.�� )18(

�����'���#��� 3	� )%T� :
)19(

1 2 P 1 1 P 2 P 1 P 2 2 P 1 P
1 2 1 2

2 3 P 2 2 P 3 P 2 P 3 3 P 2 P
2 3 2 3

d (S cos S cos )dx (S sin S sin )dyS S S S
d (S cos S cos )dx (S sin S Sin )dyS S S S

− − − −

− − − −

ρ ρβ = α − α + α − α
ρ ρβ = α − α + α − α

 

>
%�% 0���Z� �������� )19(��#
:
1 2 1 2 P 1 1 P 2 P 1 P 2 2 P 1 P

2 3 2 3 P 2 2 P 3 P 2 P 3 3 P 2 P

S S d (S cos S cos )dx (S sin S sin )dy
S S d (S cos S cos )dx (S sin S sin )dy

− − − −

− − − −

β = ρ α − α +ρ α − α
β = ρ α − α +ρ α − α

 
��2 U�* :

1 P 2 2 P 1

2 P 3 3 P 2

S sin S sin u
S sin S sin v

− −

− −

α − α =
α − α =

L%�
 :

( )

1 2 1
2 P 1 1 P 2 P P

2 3 2
3 P 2 2 P 3 P p

S S d 1 (S cos S cos ) dx dyu u
S S d 1 S cos S cos dx dyv v

− −

− −

β = α − α +ρ
β = α − α +ρ

 � ���:�� �� I7�2 �
%������� `��:�M���#
 :

)20(1 2
1 2 2 P 3 3 P 2 2 3 1 P 2 2 P 1

2 P 1 1 P 2 2 P 3 3 P 2

3 P 2 2 P 3 1 P 2 2 P 1 P

d dS S (S sin S sin ) S S (S sin S sin )

[(S cos S cos )(S sin S sin )
(S cos S cos )(S sin S sin )]dx

− − − −

− − − −

− − − −

β β− α − α − αρ ρ
= α − α α − α −

α − α α − α

 

,
��%� 0������� �� ���� a1
�� )20 ( ��.� ��	�

�#��� :

2 1 2 1 2 3 1 P

1 2
1 2 P 3 3 P 2 3 1 P 2 2 P 1

[S sin( ) S sin S sin ]dx
d dS (S sin S sin ) S [S sin S sin ]− − − −

β +β − β − β =
β βα − α − α − αρ ρ
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�#��� �� �2 :
1 2

1 2 P 3 3 P 2 3 1 P 2 2 P 1

P
2 1 2 1 2 3 1

d dS (S sin S sin ) S (S sin S sin )
dx S sin( ) S sin S sin

− − − −
β βα − α − α − αρ ρ= β +β − β − β

 
,..
��%��  ..��%��� &.. +�� �Z..� G..����.. $�	� 

( )P Px yp m , m:
P

2 2 2
2 1 2 P 3 3 P 2 1
x 2 2

2 1 2 1 2 3 1
2 2 2
3 1 P 2 2 P 1 2

2 2
2 1 2 1 2 3 1

S (S sin S sin ) mm .[S sin( ) S sin S sin ]
S (S sin S sin ) m.[S sin( ) S sin S sin ]

− −

− −

α − α β= +β +β − β − β ρ
α − α β

β +β − β − β ρ

 

�U�* � ��
$\��� �
��1�� �2 1��
�� .�� G�*� Q��A��
 ���*� ���%�� �#�
 �2 1 2

2 2 2m m mβ β β= = �5�

3	� �@' :

)21(2 2 2 2
1 2 P 3 3 P 2 3 1 P 2 2 P 1

xp 2
2 1 2 1 2 3 1

m S (Ssin Ssin ) S (Ssin Ssin )m [Ssin( ) Ssin Ssin ]
β − − − −α − α + α − α= ρ β +β − β − β

 
�$����� �$
� �����*� ����#
 :

)22(2 2 2 2
1 2 P 3 3 P 2 3 1 P 2 2 P 1

yp 2
2 1 2 1 2 3 1

m S (S cos S cos ) S (S cos S cos )m [S sin( ) S sin S sin ]
β − − − −α − α + α − α= ρ β +β − β − β

 
�#�
 �
%!7��� >%#� �2 )21(�)22(�#���� )%T� :

P P
2 2 2 2 2
x y x ym m m (K K )β+ = + 

0�N�� )� & +�� � $��� 
P

�
P

P

x x

y y

m m K
m m K

β

β

=

=

J5K6:
2 2 2 2
1 2 P 3 3 P 2 3 1 P 2 2 P 1

x 2
2 1 2 1 2 3 1

S (S sin S sin ) S (S sin S sin )1K [S sin( ) S sin S sin ]
− − − −α − α + α − α= ρ β +β − β − β

 
�

2 2 2 2
1 2 P 3 3 P 2 3 1 P 2 2 P 1

y 2
2 1 2 1 2 3 1

S (S cos S cos ) S (S cos S cos )1K [S sin( ) S sin S sin ]
− − − −α − α + α − α= ρ β + β − β − β

 
�2 U�*� ��
$�� a��
6 1��
� ��7� ,��2 ��� �% 

��
% �
�N��� �
��?�� �!� ) �
 ;
�� �.�$� �2 �.#�
 <
I���$� �
�:����� ;��� ,��2 �
! I�
%E� 3	� & +

± 10cc �
%
��1�� �� �# 3	� & +�� �2 42 β1 , β2

�
$��� ;�=�
%E� ��
! �� �
%
%�%���� :
ccccm 15210 ≈±=β

5+&� ���� ;�
 ���� )��.?��� ���� �
.$
� %�� )� �$�
 �. $�	� ;�
?��.'/� ��.

6 ����7+ �� �% )%��P
��	.@�% ).%�� �
�A��� LN�%��� a�: 3	�� ����
���

 
�$%� ��
�6 ;�.!7�	� M�.$�� � $��� I5= ;�
?��'6 �!� �
�
� I7�2 ��
�6 ��	@�% )%��:

�
� %1�
� %2

[cm]pm
[m] 

Pym
[m] 

Pxm[cm]pm
[m] 

Pym
[m] 

Pxm
1.64 cm 0.013 0.010 2.01 cm0.018 0.009 

)� �����J� :
;.�% )%�� ;�$
� %��� �
	
	'%�� ������� 3�6 M����%��<

�
��%��  �$���� �	@�'�� LN�%��� �=2 ����:
1.3$�% ��: ����'��� � $��� LN�%��� �

$% �7+ ��

 ��%��� �=� ! Q@� & + 0�N��4���
 2.01 cm 
� ���� �
� %�� )�1.64 cm�� �
� %�� )� 42 <)��?
��%���$%� �
%!��� �2.

2.�.?� �.�	?� <�'�� �� 01
�� �$
� �� I5= 3$�%
 ��� )%$
� ��97?.��  �$��� ;��%!� �56 <)�
��#� 

���	����A, B, C �
$%�.� 3.	� ����!� ,:� ��
�'��.

3.�����+%.�� �
��#�6 )� ��#% �$
� �� I5= 01
� �6
��# ������ ;�

��� )� �
	
	'% �$
� �� I5=.

4.�6�
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�.�� ��.#�

��%
��� $��M��	� �.!� �#��� )� �
���� )
����   +

)5(�4&�������%��� ;�

����� ;�F� �� �F.
5.M�.�
�! 1#��%�� �
��#�6 ��:%
 ��&���� I5= �' �6

 ).%�� �.�17�� ;���
$�� a��
6� 0� +�� 0�N���� ��
� �'�� ) �%����
��� � $��� ;�
?��'/ >�	 �� .
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